8ix questiona to be answered. Al guestions cgrry'eqﬁglgmﬁrkﬁ.

N is the set of natural numbers. Z is the set of integers, Q is the set of rational numbers.

41, If £1 = 100 new pence, find the total cost of the following items:
27 litres of petrol @ 9 new pence per litre
L*5 metres of cloth @ 58 new pence per metre
3« 75 kilogrammes of tomatoes @ 36 new pence per killogramme
Sweets and checolate ® 11 new pencee
Ir 6% discount is allowed, find the total cost of the items.

o Ea; Caleulate the simple interest on £350 for L years at 5-5 % per annum,
b) In a pupermarket a plece of cheese welghing 83 ounces is marked 1s, 10d. Another
piece of the same type of cheese weighs 5z ounces and is marked 1s., 2d. Which piece
is being sold at the cheaper rate?

3, If A = {1, z}, B = {z, 3, 4}, ¢ = {1, 3, fl, write out the elements of each of the
following sets:

(1) ANB (i1)BuC (411) ANC (dv)CNA 770 0 g S - W o 1S
Is it possible to find a g=t X such that AU X = B? Glve a reason.

L. (&) (13 Expreass the denary number 200 in binary notation,
(1i) Find the sum of the following binary numbers 145y 1,100 101y . 1y, s
Check your answer by converting to denary notation.

(b) The population of a certain country ig given as 1+7 x 107 persons., The capital
eity in that country has a population of 2+1 x 10° persons, Write down the
population of the reast of the country in the form a-10" where 1 < a < 10 and
n e Zs

5, (&) ® is a number between 2 and %, Write the following numbers in order of size
putting the smallest number first:
2 =1 1==
e IRy
(b) Graph on the number line the solution set of

fz|z-3<-1,ze2lNn{a | 2+ 23 15 = € 2}

ey 1 —3

6, (a) Find the factors of
(L) #2 it =2
(i1) o (& — 2y) = 2y + =,

k il iy
(b) Solve the equation 77 Bk

7« (a) Solve the simultaneous equations
z—y =3y t1
z = 5.
(b) Show that @ = (N — 1) 1s a solution of the equation 2?2 + Pp— 2 =0,

which have 3 children, L children, 5 children or 6 children
per family.
Use the bar chart to answer the following:
(1) What is the most common number of children in the
families ¢ 3
(11) How many families have fewer than the most
eommon number of children ?

8. The bar—chart shows the number of families in a locality :{
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9. (a) The diagram shows a wheel which has 5 spokes and whiech is
1ying on the ground near 5 pegs a, b, c, @, and e, BEach
spoke points at a peg.

The wheel is rotated on ite axle. The couple (a, ¢ ) means
that the spoke which pointed at a before the rotation now
points at ec. By filling in the missing compenents in
these couples indieate what happens the spokes which
pointed at the other pegs:

{(a, ¢y (by )y (cy Do @y )y (3, e 'éy
(b) BEach coupié (z, y) in the set below satisfies the equation
y =a —1, Fill in the blanks in the following four
couples:®
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10, (a) 8,9 8,y 5, are three sequences as follows:—

8, = 3y 6, 15, 21, seeee(bn = 3); seecee
8, =%, =% 3y =4, eee ()" 5y ees
§. =2, U, 8 =16, see (1) 2% saes
(i; Write down the 6th and 7th terms in each sequence,

(41) In which sequence do the terme always get larger and larger.

(b) A ball drops from a table 3 feet high and bounces several +imes on the floor, Ifr
each bounce is % the height of the previous fall, find the height of the fourth bounce,
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